226 ML v X2 TV

<10kmBABF (60mUL) >

1|10km 5 F 6058 A L 23003|1lLE #— KBRAF B S R C 0:40:53 0:40:50
2|10km B F 605 E 23163 [ #Ex RBRAF 0:41:23 0:41:16
3|10kmE F605 A £ 23006|RBiR =— KBRAF 0:41:57 0:41:55
4|10km B F60m% L £ 23009|0B B LR I~z Z—X 0:42:45 0:42:37
5|10km 3 F605 A £ 23004 | &5 & RRE 0:43:20 0:43:17
6|10km 3B 760 E 23010(8%F BA% RBRAF 0:44:17 0:44:14
7|10km B F60m A £ 23164|AH #& ML R JAZ =7 I 0:44:47 0:44:43
8[10kmZBF60m MU £ 23008|RiHE 1&F MILE 0:45:07 0:45:04
9|10km B F605LL £ 23013| E4f  #4 RBRAF Lty e T > 0:45:15 0:45:11
10{10km&BF60m MU £ 23016|#M L& MILE 0:45:32 0:45:27
11{10kmSBF60m £ 23162|% i 0:46:10 0:46:08
12{10km&BF60m MU £ 23014 (Bt #7) RERAF ALL BUDDY 0:46:44 0:46:32
13[10kmEB F60m £ 230154 BUA REBRAF FtE# S R C 0:46:48 0:46:44
14{10km3BF60m MU £ 230054 B4 KBRAF FEMEREC 0:47:08 0:46:53
15(10kmSB F60mL £ 23018|k&  3h— RBRAF 0:48:38 0:48:19
16{10km 5B F60m MU £ 23002|H% {817 MILE HERHE A 0:48:42 0:48:32
17(10kmEB F60m £ 23012[E@E #E RBRAF 0:48:53 0:48:46
18(10km&B F60m MU £ 23024 HE MG 0:49:28 0:49:21
19[10kmEB F60mLL £ 23022|EA BE ML 0:49:32 0:49:29
20|10km 5 F607% A L 23029|52  f@BA MFLE THA Y 0:49:50 0:49:40
21]|10km S 7605 U L 230445811 RRE 0:50:27 0:50:08
22|10km 5 F607% A L 23048 (FHE #E= MILE 0:50:39 0:50:08
23|10kmB 760U+ 23032 | A & ML 0:50:39 0:50:30
24]10km 5 F607% A L 23007 |BEE HA MG HERHE A 0:50:49 0:50:39
25|10kmB 760+ 23167[#)11 Ri& ML fMIRAC 0:51:18 0:50:45
26|10km 5 F607% A L 23076|i%® IEfE RERAF 0:53:25 0:52:45
27]|10km S 7605 AU L 23040|)11F8 B3 LTS #IMRC 0:53:35 0:53:08
28|10km 5 F607% A L 23031(Fgi  HEE— BIRE FHEAS= 0:53:41 0:53:31
29|10kmB 760U 23060|E F ML Bz L 0:54:34 0:53:35
30|10km 5 F607% A L 23027|FE Bz KBRAF BES5v=v0057 0:54:14 0:54:02
31|10kmB 760U+ 23020(|FEME ML 0:54:26 0:54:18
32|10km 5 F607% A L 230354 #IR MG 0:54:25 0:54:21
33|10kmB 760U+ 23168 (ML FHHt KBRAF 0:57:15 0:56:00
34]|10km 5 F607% A L 23028[BR EA =RE 0:56:38 0:56:31
35|10kmB 760U+ 23037 %Il fIR ML 0:56:57 0:56:40
36|10km 5 F607% A L 23045 Hk =RE 0:57:21 0:56:46
37|10kmB 760U+ 23026|&=HF KBRAF 0:57:06 0:56:49
38|10km 5 F607% A L 23166|%#7)Il 1% ML 0:57:17 0:57:05
39(10km 5 7605 23074|1AT MA MR MBLEAS> = 0:58:02 0:57:15
40|10km 3 F605m A £ 23046 T+ BA RRIE +32)1 0:58:07 0:57:42
41[{10kmBF60m U £ 23082|#H £ wE RBRAF 0:58:32 0:57:46
42|10km 3B F605m A £ 23119|E@ =z ML 0:58:55 0:58:02
43[10kmBF60m U £ 23107|i%7% BBA ML L >3 0N 0:59:18 0:58:19
44|10km P F605m A £ 23050|%=7x HA KBRAF 0:58:53 0:58:24
45[10kmBF60m U £ 23077|A@E % RBRAF 0:59:19 0:58:26
46|10km 3 F605m A £ 23055|F £ #7 KBRAF 0:59:34 0:58:27
47|10km B 76058 A = 23072 | &L ML MIPLES S & 0:59:11 0:58:33
48|10km P F605m A £ 23063|/[RMA KBRAF B A F iRt 0:59:56 0:58:40
49]10km B F60m% U £ 23064 KR H KERAF ZWAL 0:59:42 0:58:52
50|10km 5 F607% A L 2304728 A KBRAF 0:59:17 0:58:56
51[10km5 7605 23079))I1E  &E RRE 1:00:17 0:59:30
52|10km 5 F607% AU L 23068|=f S e AZ=ZDMEA 1:01:27 0:59:49
53[10km 5 F605T U £ 23038|EH R RER KR AT 1:00:24 0:59:58
54|10km 5 F607% A L 23129|Z=dr #iE KBRAF 1:01:44 1:00:01
55[10km 5 F605T U 23067 [/1\BFE X RRE 1:01:27 1:00:33
56|10km 5 F607% A L 23042|R X KBRAF 1:01:38 1:00:48
57[10km 5 7605 230193z E— MR 1:01:01 1:00:54
58|10km 5 F607% A L 23081 |#ER ML 1:01:56 1:01:03
59|10kmB F60A U L 23039(&%& HA PR EEERIER 1:02:40 1:01:05
60|10km 5 F607% A L 23059|:=% HFE ML HIF WA 1:02:00 1:01:08
61[10km5 7605 23117 | = A FE MR 1:03:00 1:02:06
62|10km 5 F607% AU L 23108|KF BHR KBRAF LL5vF— 1:03:35 1:02:24
63[10km 5 7605 23085| kil 3k KERAF 1:03:33 1:02:33




64|10km 5 76078 A L 23134|@H = ML 1:03:54 1:02:35
65]|10km 5 F605% U 23124 (#7% RZ KBRAF BASHR—ILF 1:03:45 1:02:43
66|10km 5 F607% A L 23036 1A At ML THA Y 1:03:06 1:02:55
67]|10km S F605% U 23109 K& 1Bk RBRAF Ve D RO 1:04:14 1:03:15
68|10km 5 F6075% A L 23089(& i A ML vl v 1:04:20 1:03:18
69]|10km 5 F605% U 23080(HE * KERAF 1:04:20 1:03:33
70|10km 5 76058 A L 231724 EX ML 1:05:26 1:03:47
71|10km S 76058 U 2305480 TA MILE 1:04:48 1:03:58
72|10km 5 F 6078 A L 23084 |[EAs &= ML F—LAHE 1:05:02 1:04:04
73|10km S F605% U 23033| Al #7 KERAF 1:04:17 1:04:07
74|10km 5B 76058 A L 23051(®g {ehEAH ML 1:05:09 1:04:10
75|10km 5 F607% A L 23041 (fH78 #k MILE 1:04:38 1:04:14
76|10km 5 76058 AU+ 23023|FH & RBRAF 1:04:56 1:04:53
77]|10km 5 F607% A L 23115|/\ith BhRR MFLE TTA 1:06:38 1:05:39
78|10km 5B F605% A+ 23098|#XH H & =58 1:07:36 1:06:38
79]|10km 5 F607% A L 23053|F £ #®= MFLE 1:07:37 1:06:45
80|10km 5 F605% A+ 23070(®&0O & ML 1:07:56 1:06:50
81|10km 5 F607% A L 23071 (fE  RE MILE 1:07:44 1:06:55
82|10km 5 F605% AU+ 23159 A& 1R RRE Bz 1:08:06 1:06:57
83|10km 5 F605% A L 23086|%MH H+K RERAF 1:08:08 1:07:14
84|10km 5B F605% U+ 23143 (fA HHLE RRE PR NS 4] 1:09:51 1:08:00
85|10km 5 F607% A L 23075[0 &HA KBRAF 1:09:19 1:08:09
86|10km 5 7605k AU+ 23142 R gk KERAF aAZH 3/ LR EH 1:09:38 1:08:17
87|10km 5 F607% A L 23062(1@HE &S KBRAF 1:09:39 1:08:28
88|10km 5 F605% AU+ 231111k & KERAF 1:09:43 1:08:37
89|10km 5 F607% A L 23094 EFE  k— KBRAF 1:09:44 1:08:54
90|10kmB 760U L 23091 = RBRAF 1:10:26 1:09:20
91|10km 5 F607% A L 23104|=4A =i MILE 1:10:18 1:09:32
92(10km 5 F605 U £ 23173|7)Il 5 MR 1:11:02 1:09:33
93|10km 5 F607% A L 23170(i% IEAT MILE L 1:11:05 1:09:45
94|10kmB 760U+ 23113|MAF  #BA KERAF 1:11:38 1:09:52
95|10km 5 F607% A L 23096 K& & MILE 1:10:55 1:10:02
96 [10km 5 F605 U £ 23116|=1E 1B MR 32077 1:11:31 1:10:21
97|10km 5 F607% A L 23138| £%F =R RER 1:12:00 1:10:23
98(10km 5 7605 23114[1LA BE*x MR 1:11:19 1:10:24
99|10km 5 F607% A L 23128(1EA HA MILE EEN S S 1:11:42 1:10:25
100|10km 3B F60m% A £ 23169|®F Ak MR 1:12:02 1:10:32
101|10km % F605m A £ 23025|HAO & MILE BRIV T 1:10:48 1:10:46
102|10km 3B F60m% A £ 23110| K% # Elo:: 3 f=hbeAT 1:11:38 1:10:51
103|10km % F605m A £ 23101|ka & MILE KHFTX 1:12:10 1:11:12
104|10km 8B F607% U L 23147(1BR iz BEE 1:13:05 1:11:48
105|10km % F605E A £ 231557 Ak ML hhXESy=vrr57 1:13:09 1:11:54
106|10km 3B F605% A 23065(%@E &7 MR 1:13:03 1:12:18
107|10km % F60/m A £ 23126|2M #f= KBRAF SAINETE 1:14:03 1:12:37
108|10km&E F605% U £ 23132 1lLEL [E— RRAD 1:14:13 1:12:40
109|10km%E F605m A £ 23061 KfE Xk ML KIERETEHA 1:13:50 1:13:06
110|10km 8 F605% U L 23112|i8Kk  FEA PR hhXESyZv 57 1:14:38 1:13:24
111|10km & F605m A £ 23083 (kA B ML 1:15:04 1:14:19
112|10km B F60mE A £ 23073|5F@E  FA] KERAF 1:15:41 1:14:25
113|10km%E F605m A £ 23136(HH s KBRAF 1:15:59 1:14:38
114[10kmBF605% L £ 23103[EK  =A RBRAF 1:15:29 1:14:44
115|10km & F605m A £ 2302|EF & ML 1:16:16 1:15:04
116|10km 3B F60m% A £ 23121 |RiE i MR 1:17:03 1:15:27
117|10km % F605m A £ 23049|F2@ (£ ML RSAEYIRI—ADWEA 1:16:17 1:15:41
118|10km 3B F60mE A £ 231533 A A FHig KERAF 1:18:04 1:16:27
119|10km%E F605m A £ 23135 (1t = =58 1:17:42 1:16:28
120{10km B F605% L £ 23151 |l #H= MR 1:18:15 1:16:41
121|10km & F605E A £ 23100|fFEE & ML 1:18:05 1:16:56
122|10km 3B F60m% A £ 23056 |MmA 1= KBR AT WA ER 1:18:10 1:17:00
123|10km & F60/m A £ 23146| 211 1A ML fBA 1:18:54 1:17:12
124|10km 3B F60m% A £ 23052|E% 21 IR MBLES S = 1:17:52 1:17:18
125|10km & F605% A £ 23127|EBE  E=A0 SEE B5&E¥B&G 1:19:48 1:18:00
126|10km3B F60m% LA £ 23158|H@E % KERAF 1:19:29 1:18:06
127|10km 3 F605m A £ 23102[KE Ak KBRAF 1:19:35 1:18:15
128|10km3B F60m% LA £ 23087 |h0EE  AB MR BARZEs 77 1:19:44 1:18:29
129|10kmE F60/m A £ 23066| £l FOE ML 1:20:07 1:18:32
130[{10km&BF605% L £ 23131 |4 Tt MAPLE REMAZ Y =y o 1:20:28 1:18:51




131|10km B F60/ U £ 23149|F)1l RBL 1:21:00 1:19:14
132(10km%B F60m A £ 23118(#sk  BA 1:21:30 1:20:25
133|10km 3B F60/m U £ 23123\ HHA 1:22:21 1:20:46
134[10km%B F60/ A £ 23161| 534 F 1:22:24 1:20:52
135|10km 3B F60/ U £ 23145\ 0 B8R FEHMELBER 2 2 7 1:22:28 1:20:55
136(10km%B F60 A £ 23160(KIE & 1:23:40 1:22:05
137|10km 3B F60/m U £ 23069 | B4 & ML Zr=>7s77 1:23:24 1:22:18
138[10km%B F60m A £ 23144 (8K EE 1:25:17 1:23:48
139|10km 3B F60/ U £ 23058| & K= 1:26:21 1:25:17
140{10km%B F60 A £ 23148(& I b= ALyY--hLyY 1:28:05 1:26:41
141|10km 3B F60/ U £ 23130|uts FH F—LywvE&T 7V 1:29:18 1:27:36
142|10km 3B F60/ U £ 23152|NME # 1:31:02 1:29:19
143|10km 3B F60/ A £ 23150\ E5FH AB 1:32:17 1:30:33
144|10km 3B F60/ U £ 23078|hit & 1:33:44 1:32:41
145|10km 3B F60/ U £ 23120|%3%  FiC 1:33:45 1:32:41
146|10km 3B F60/ U £ 23174 |1h%F  RA 1:36:15 1:34:31
147|10km 3B F60/ A £ 23093|HF&E & 1:35:31 1:34:40
148|10km 3B F60 U £ 23140|/hE HEE 1:38:35 1:37:48
149|10km 3B F 607U £ 2314135 HHE 1:40:33 1:38:54
150|10km 3B F60/ U £ 23175|#%  #IMA MILELA 2 1:41:26 1:39:36
151|10km 3 F60/ A £ 23156|HR XK 1:42:04 1:41:01
152|10km 3B F60/ U £ 23105| &8/ ik 1:43:54 1:43:00
153|10km 3B F60/ U £ 23157 |1k A 2:29:11 2:27:12




